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def tipose(self):
if self.vathmos>=10:
print("IIpodyeton")
else:
print("Tlapaméumeton”)
b
mathitis1=Mathitis(103,"NikoAdov",19)
mathitis2=Mathitis(105,"T'ewpyiov",9)

)

mathitis1.tipose()

J)
mo=(mathitis1.vathmos+mathitis2.vathmos)/2.0
print(mo)
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OEMA I

#OEMA T
SUM=0
plithos=0
for i in range(50):
TEM=int(input('A®oce tepdyia'))
Xreosi=ypologismos(TEM)
print('Xpéwon melar : ', Xreosi)
SUM-+=Xreosi
if TEM>10:
plithos+=1
print("ZvvoAikd £coda : ', SUM)
Pososto=plithos/50.0*100
print('Tldve and 10 tepdya : ',Pososto,'%")
#END

def ypologismos(x):
if x<=3:
result=x*120
elif x<=6:
result=3*120+(x-3)*100
else:
result=3*120+3*100+(x-6)*70
return result
#END def

OEMA A

#OEMA A
KOD=[]
VATH=][]

code=raw_input('A®ce K®dkd vroymeiov')

while code!="TEAOX"
KOD.append(code)

grade=int(input('A®ce Padporoyia'))

while grade<l OR grade>100:

grade=int(input('AdOog! Zavadmnace'))

VATH.append(grade)

code=raw_input('A®ce K®O1KO EMOUEVOL VTTOYTPiOV')

OLOI=len(KOD)

sum=0

for grade in VATH:
sum-+=grade
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MO=float(sum)/OLOI
print('Mécog 6pog : ',MO)
for i in range(0,0OLOI-1,1):
for j in range(OLOI-1,1,-1):
if VATH[j]>VATH][j-1]:
VATH][j],VATH[j-1]=VATH[j-1],VATH]j]
KOD[j],KOD[j-1]1=KOD[j-1],KOD[j]
print('Meyaivtepn Padporoyia: ,VATH[O0])
i=0
found=FALSE
while i<OLOI and Not(found):
if VATH[i]J<VATH][O0]:
found=TRUE
else:
print KODJi]
i+=1
file=open("epityxon.txt","w")
i=0
found=FALSE
while i<OLOI and Not(found):
if VATH[i]<=60:

found=TRUE
else:
file.write(str(i+1)+.+str(KOD[i])+'\n")
i+=1
file.close()

#END
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